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23.(893 ) fift :

AFH i m = pV =2.5 x 10°%kg/m* x 6m’ = 1.5 x 10’kg = 15t;
G 5%10'N
( El ,=7= = 3 = .
REM BT m ¢ = 10N/kg 5x 10%kg = 5t;

AF5RERMERE:m, =m+m’ =15t + 5t = 20t
o 20t > 15t, I LA A AN RE IZ AT T3d it
P A ANRE IIZAR il
24.(841)fift:
(D% )i m=1.8t = 1.8 x 10°kg,
il H 1 :G=mg=1.8x10%g x 10N/kg = 1.8 X 10'N;
RPN B b A BT AR I SR ) A2 B B R — XA T
MFy=G=18x10N,
(2) %2 BIEEEE ST . f =0.02G=0.02x 1.8 X 10°N = 3.6 X 10°N,,
(3) PR ZEAE AN s 15 AT,
Jir LAZESZ B (25 | ) ANEE S8 1 S — XA, A
Fi=f=36%10°N,
25.(941)fift -
(1)G = mg = 70kg x 10N/kg = 700N, " {5 ] (%3 F = 100N,
M F 4 =G—F=700N - 100N = 600N, J5 [ 5 5 1 (1 75 [l AH[R] : B E ) R
(2) Bk 54 3 B2 5038 1) R 2 30, AT P HRRAS , oo 4 R
321945 71:F' = 0N,
sz 3w 1 S F = G = 700N,
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